Precalculus
Section 2-6
Graphing Techniques; Transformations

——L— Complete the summary-below:

To Graph: Draw the graph of fand: Functional Change of f(x)
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2. Compressions or stretching:
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3. Reflections over the x-axis:
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Reflections over the y-axis .
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3. Find the function for f(x) =[x if you : : |-(x-z3 2+ 5

A . shift left 2 units [ x +2 |
B. shift up 3 units [y 4 (AR
C. reflect over the y-axis
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5. Use the graph of function f shown to the right 02l @2
to graph each of the following: ' v
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A Gx)=f(x+2) B. H(x) =-f(x) C.J(x)==f(x) D. K(x)= = :
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6. Complete the square of f(x)=3x" +6x+1, then write steps to graph and finally manually graph below:
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